FPI HE=E
Bye
A BF
#®l 55
s &
o =5
N0 X
B wEF
B BT
12:13DHE
1416HWE
10- NS
16-1TTDRE
1887285

4-5DWE
6-THWE
2:3DWE
8-9DWE
18z
Rt HF
B =BT
FHI =R
Bk B
g s
B =
FE B=7F
®BE 5
NGOl

6-3

F1T0 EBXRAUR—VAE [EXAR]
TFTIIRNY S
gIlB BEF ( ¥y 1-Yy1C ) 1
( ) 2 —— 6-3
xemE ( 670 ) 3 — - 64
W LT ( FAF ) 4
WEEES ( TJ ) 5 | 671 61
=K ODF ( TNTK ) 6 5o
AFB ( %EF2 ) 7
B0 <O ( SWET ) 8 6-0 &1
A AL ( FAWF ) 9 | 63
=)I|-BA(TJ) 1 oo
AZAFG 1-9TC) 14
Bio-STEETD e o
FEWAF(GTO) 16 -
HSE- 5 (F-4F) 4 o
- S (TNTK) 6 6-0
FAch-RI I (SWET) 8 ~—
=PSB (" 1-YTC) 1
A EF (227 ) 10— ¢, 03
T %3 ( 2% ) 1 5o
BRAZEF (T4 ) W
WA EF ( yi@ ) 13— 61
AT EF (¥Y1TC) U——m o 03
ASRYF (TS ) B
WA GF ( GTO ) 1 61 —
SE ZKF (7544 ) T .
BfE K ( FUF ) 18




